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PART A: Grammar
Directions: Questions 1-10 are incomplete sentences. Beneath each sentence you will see four words or

phrases marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the sentence.
Then mark your answer sheet.

We were watching TV, but suddenly all the lights went out. We ............ see a thing.

1) couldn’t 2) shouldn’t 3) mustn’t 4) had better not
I’m sorry, I haven’t been ............ come and see you before. I’ve been really busy lately.

1) can 2) could 3) could have 4) able to

I parked my car outside the hairdresser’s, and while I was in there, the police took the car away. I’ve
got it back now. But I ............ a lot of money.

1) must pay 2) could have paid 3) should pay 4) had to pay

Mr Robinson is ninety years old and he is going to participate in a marathon race. He ............ be mad

1) can’t 2) could 3) must 4) might

You’re always going to restaurants and eating fast food. You ............ cook more and start eating
healthy food.

1) have better 2) should 3) needn’t 4) may

David’s broken his leg. He had to go to hospital. He will ............ stay there for two weeks.

1) be able to 2) must 3) have to 4) might

I had to work long hours when I was young. But children today have it easy. They ............ work long
hours.

1) mustn’t 2) had better not 3) won’t 4) don’t have to

The baby has been crying all day. He ............ a temperature, but there’s definitely something wrong
with him.

1) may not have 2) mustn’t have 3) doesn’t have to 4) couldn’t have

We’re meeting Rachel and we’ve arrived but she’s not here yet. She’s usually late, I think we
wait for her.

1) had better 2) would 3) needn’t 4) have better
I’ve got one or two things to do, so I ............ have time to come out tonight.
1) don’t have to 2) mightn’t 3) mustn’t 4) don’t need to

PART B: Vocabulary
Directions: Questions 11-25 are incomplete sentences. Beneath each sentence you will see four words

or phrases marked (1), (2), (3), and (4). Choose the one word or phrase that best complete the sentence.
Then mark the correct choice on your answer sheet.

11-

13-

14-

15-

16-

17-

Prince Andrew needed his father’s ............ to his marriage, and to obtain this he started for the country
the next day.

1) sense 2) irony 3) honor 4) consent

After a brief discussion we ............ to telephone first and leave the visit option on the table, at least for
now.

1) set up 2) reflected 3) decided 4) found out

The proposed tax rise has been vigorously ............ by business leaders.

1) opposed 2) taken 3) chosen 4) calculated

We have worked hard to buy this furniture. Because we value them, we are ............ to give them up
without a really good reason.

1) keen 2) reluctant 3) dizzy 4) concerned

I want to sue my manager and I need to have a lawyer. There are three

............ lawyers in this city. I
will choose one of them.

1) prominent 2) reformed 3) discourse 4) overwhelmed
From a distance you could hear him talking loudly to himself in a strange, ............ monotone.
1) squeezing 2) useful 3) unearthly 4) dependent

I hated him and I was tempted to ............ him in front of everyone, but that would be childish.
1) murmur 2) turn into 3) denounce 4) swear

forum.konkur.in



18-

19-

20-

21-

22-

23-

24-

25-

27-

28-

www.konkur.in

P2l e u-‘l Al ) J~

V| (robaisl) Sl gl oof el DFiQ.cOM oL, b i pazio @3 19> Jiga

I believe that the artistic value of love has been greatly ............ by some writers.

1) predicted 2) appeared 3) persisted 4) exaggerated

This formula is ............ between speeds of 37 and 77 km/h. You should know that you cannot count on
it in all situations.

1) valid 2) forgotten 3) weird 4) removed

‘When the ancients could not find these solutions, it was not for a ............ of intelligence. The reason was
that there was no technology in that time.

1) situation 2) lack 3) device 4) quiz

He said he had always dealt with his problems easily and the problem he had with his car was not a big
deal; however, when his father asked if he was ready for a greater ............ he declined.

1) challenge 2) talent 3) topic 4) gift

My mom told me to go and give this fur back to the seller. She said the fur was too long and ............ for
linings.

1) undeniable 2) mesmerizing 3) bulky 4) sweet

Unless there are any ............ problems the whole project should be finished by the spring.

1) high-tech 2) predicted 3) brave 4) unforeseen

There was a fire last night in the Times Square. Anyone who happened to be in the ............ could have
been injured or killed.

1) tent 2) castle 3) vicinity 4) labor

The data Google ............ about people’s interests could also help it change the way its Web-search
engine works.

1) recalls 2) removes 3) obtains 4) performs

PART C: Sentence Structure
Directions: Choose the sentence with the best word order for each of the following series. Then mark

the correct choice on your answer sheet.

1) Before travelling to the US, you mustn’t find out what documents you need. You might must get a visa,
however there are different rules for different nationalities.

2) Before you could travel to the US, you have to find out what documents you need. You had better get a
visa, though there are different rules for different nationalities.

3) Before travel to the US, you would find out what documents you need. You must probably need to get a
visa, unless there are different rules for different nationalities.

4) Before you travel to the US, you must find out what documents you need. You’ll probably need to get a
visa, but there are different rules for different nationalities.

1) Nancy has hired three people cleaning the flat for her. She must spend a lot of money. However, the flat
was already clean, so she doesn’t need to spend that much money.

2) Nancy hired three people to clean the flat for her. She must have spent a lot of money. However, the flat
was already clean, so she needn’t have spent that much money.

3) Nancy had hired three people to clean her flat. She had better spend a lot of money. However, the flat was
already clean, so she mustn’t have spent that much money.

4) Nancy hired three people cleaning the flat for her. She didn’t need to spend a lot of money. But the flat
was clean, so she didn’t have to spend that much money.

1) The news must be published in one day, so your report has to be on my desk tomorrow morning. You
cannot delay anymore.

2) The news needn’t to be published in one day, so your report must be on my desk tomorrow morning. You
couldn’t delay anymore.

3) The news might be published in one day, so your report couldn’t have been on my desk tomorrow
morning. You wouldn’t delay anymore.

4) The news has to be published in one day, so your report might be on my desk tomorrow morning. You
won’t delay anymore.
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1) I mustn’t sleep sometimes because my neighbors are playing music all night. They had better play music all night.
2) I had better not sleep sometimes because my neighbors play music all night. They mustn’t play music all night.
3) I can’t sleep sometimes because my neighbors play music all night. They shouldn’t play music all night.

4) I couldn’t sleep sometimes because my neighbors play music all night. They may not play music all night.

1) It’s been very hot yesterday, so I ought to water all the flowers. And now it pours with rain. I mightn’t bother.

2) It was very hot yesterday, so I had watered all the flowers. And now it’s pouring with rain. I mustn’t
bother myself.

3) It’s been very hot yesterday, so I could water all the flowers. And now it’s been pouring with rain. |
shouldn’t have bothered.

4) It was very hot yesterday, so I watered all the flowers. And now it’s pouring with rain. I needn’t have bothered.

PART D: Language Functions

Directions: Read the following conversations between two people and choose the answer choice (1), (2),

(3), or (4) that best complete the blank in the conversations. Then mark the correct choice on your

answer sheet.

A: You always seem to be ...31... since you’ve broken up with Vicky. I wish I could do something for
you to cheer you up.

B: It’s really nice of you. Yes, I’m feeling blue these days.

A: Would you like to go to the movies tonight? I’ve heard a new action movie is playing.

B: I’m afraid not. Actually action movies are not ...32....

A: Are you kidding? I’m ...33... action movies. I’ve watched Die Hard ten times.

B: I guess ...34... . You love something which I can’t stand.

1) on cloud nine  2) down to the wire 3) drawing a blank 4) down in the dumps

1) right as rain 2) a dime a dozen 3) snowball effect 4) my cup of tea

1) burning bridges 2) crazy about 3) in a bad mood 4) getting a second wind
1) there’s no accounting for taste 2) you’re beating around the bush

3) the apple didn’t fall far from the tree 4) there’s nothing I can do

A: Mike’s changed his mind about the French class. He may cancel the class. So, our plans for taking
French courses together are ...35... .

B: Why is he always cancelling everything? It’s the third time you’ve planned for French classes.

A: T have no idea. He dropped by this morning and said he wanted to give up the class. I said he’s such
an idiot.

B: Oh my God. Did he hear that?

A: No, I said it ...36... . But I wouldn’t have cared if he had heard me. I’m really mad at him.

B: Why do you want to learn French after all?

A:I’m ...37... business. I need to know French for this job.

1) over my head  2) up in the air 3) storm in a teacup 4) nailing
1) out loud 2) fit as a fiddle 3) for the birds 4) under my breath
1) turning over 2) checking off 3) going into 4) letting down
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A: T have an IELTS exam tomorrow. I’m really feeling ...38... .
B: You have tried your best, so just ...39... . You can take another exam if you fail.
A: Easier said than done. I have studied for two years. I have bent over backward and I have spent a
lot of money. I can’t fail the exam.
B: Don’t worry about a single thing. Just do your best. I’m sure you’ll pass the exam. I’ll give you all
the money you’ve spent in these two years if you don’t pass.
A: Oh, you have ...40... . Thanks a lot. But I can’t accept it.
38- 1) onedge 3) like mad 4) in the mood
39- 1) call it a day 3) give the cold shoulder 4) take it easy
40- 1) a good head for it 2) a heart of gold
3) an ax to grind 4) another think coming

2) happy camper
2) get cold feet

PART E: Cloze Test
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space.

Then mark the correct choice on your answer sheet.

A lot of us ...41... 42... this to the seven
hours we spend sleeping, we could easily find that we spend nearly two-thirds of our day without ...43... at

most of our working day sitting at the computer. If you ...

all. We all know that exercise is good for ...44... the body and the brain. Even a short period of exercise
every day ...45... help us to feel happier and more ...46... . So, how does the world keep fit? We ...47... at
some of the latest exercise trends from around the world. Have you ...48... worked in an office block and
wondered how you can get fit? Don’t feel ...49... anymore. We have a solution for you! Perhaps you ...50...
try Tower running. Tower running is a sport you can do in the skyscrapers of almost any big city, but
Asian cities can be particularly good. All you need to do is start at the ...51... of an office tower, and run up
all the stairs until you get to the top. Tower running has become ...52... around the world and takes place
in some of the world’s tallest towers. Another one is Piloxing. If you ...53... dance classes like Zumba, but
you also want to get rid of your anger, then Piloxing might be good for you. It started in the USA, but has
travelled quickly to countries like England. The sport is a ...54... of boxing, pilates and dance. Piloxing the
power and speed of boxing, whilst building your muscles and strength with pilates. All of this happens with
non-stop loud music, and you learn some great dance moves too. It’s a great exercise and you can do it even
if you’re a/an ...55... .

41- 1) destroy 2) spend 3) train 4) sit

42- 1) provide 2) debate 3)add 4) look into
43- 1) moving 2) looking 3) sitting 4) emphasizing
44- 1) both 2) one 3)all 4) whether

45- 1) hasto 2) can 3) needn’t to 4) must

46- 1) mad 2) nervous 3) relaxed 4) coward

47- 1) are looking 2) have looked 3) had looked 4) could have looked
48- 1) already 2) ever 3) yet 4) still

49- 1) gloomy 2) mediocre 3) dark 4) hidden

50- 1) don’t have to 2) won’t 3) should 4) would have
51- 1) ceiling 2) campus 3) section 4) bottom

52- 1) immune 2) popular 3) logical 4) miniature
53- 1) had enjoyed 2) could enjoy 3) will enjoy 4) enjoy

54- 1) topic 2) vision 3) mixture 4) confession
55- 1) amateur 2) athlete 3) ability 4) realist
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PART F: Reading Comprehension
Directions: In this part of the test you will read three passages. Each passage is followed by five

questions. Answer the questions by choosing the best choice, (1), (2), (3), or (4). Then mark your
answer sheet.

Passage 1:

In the city of London years ago, many people started to get very sick. The sickness they had was called
“cholera”. The disease caused panic among Londoners because nobody knew how to prevent it, or how to
cure it. Lots of doctors tried to figure out how to prevent people from getting cholera. Most doctors thought
that people got cholera from breathing in polluted air. They told their patients to open their windows and
breathe in fresh air as much as possible. However, this advice did not seem to work as more and more
people contracted the disease.

Doctors also struggled to help the patients who already had cholera. John Snow was a doctor and scientist
who had a different idea. He thought that cholera might have been spreading through the water that people
were drinking. Maybe polluted water was making everyone sick. At first, other doctors and scientists
disregarded Doctor Snow’s idea. They believed that cholera was spread through the air and that water was
not the problem. Nobody paid much attention to Dr. Snow. Dr. Snow developed a plan to test his theory about
polluted water causing cholera. Dr. Snow went to different neighborhoods in London and tested their water.
He also counted the number of sick people in each neighborhood. It was just as he had thought!

The neighborhoods with the cleanest water had the fewest sick people. The places with the dirtiest
water had the greatest number of sick people. This proved his theory that cholera was spread through dirty
water. Dr. Snow showed the results of his study to the mayor of London and the other doctors. They
examined the evidence and realized that Dr. Snow was right. All over London, people stopped drinking
water that might have been polluted. Almost immediately, people stopped getting sick, and the whole city
was overjoyed. Doctors knew how to stop cholera now. All it took was clean water. Thanks to Dr. John
Snow, we also know how to stop many other sicknesses that can be spread through dirty water. Cities are
now designed to make sure everyone has a supply of clean water. We would not know about the risks of
dirty water if it were not for Dr. John Snow’s scientific training, hard work and discovery. Dr. Snow may
not be as famous as Batman or Wonder Woman, but he is a hero.

56- Why were people getting sick with cholera?
1) They were eating dirty food. 2) They were drinking dirty water.
3) They were not taking enough baths. 4) They were very poor.
57- How did most doctors first think that cholera was spread?
1) Through breathing in polluted air
2) Through not changing your dirty socks often enough
3) Through petting stray cats and dogs
4) Through not washing hands before eating
58- Was Dr. John Snow’s discovery important?
1) No, he only helped a few people.
2) No, it is not important to drink clean water.
3) Yes, now all doctors know how important clean water is to being healthy.
4) Yes, now he is very famous.
59- The pronoun “it” in line 2 refers to ............ .
1) disease 2) panic 3) city 4) London
60- According to the passage, theories and experiments can lead to important ............ .
1) citizens 2) doctors 3) diseases 4) discoveries
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Passage 2:
When we are young, we learn that tigers and sharks are dangerous animals. We might be scared of

them because they are big and powerful. As we get older, however, we learn that sometimes the most
dangerous animals are also the smallest animals. In fact, the animal that kills the most people every year is
one that you have probably killed yourself many times: the mosquito.

While it may seem that all mosquitoes are biters, this is not actually the case. Male mosquitoes eat plant
nectar. On the other hand, female mosquitoes feed on animal blood. They need this blood to live and
produce eggs. When a female mosquito bites a human being, it transmits a small amount of saliva into the
blood. This saliva may or may not contain a deadly disease. The result of the bite can be as minor as an
itchy bump or as serious as death.

Because a mosquito can bite many people in the course of its life, it can carry diseases from one person
to another very easily. Two of the deadliest diseases carried by mosquitoes are malaria and yellow fever.
More than 700 million people become sick from these diseases every year. At least 2 million of these people
will die from these diseases.

Many scientists are working on safer and better ways to kill mosquitoes, but so far, there is no sure way
to protect everyone in the world from their deadly bites. Mosquito nets can be placed over beds to protect
people against being bitten. These nets help people stay safe at night, but they do not kill any mosquitoes.
Mosquitoes have many natural enemies like bats, birds, dragonflies, and certain kinds of fish. Bringing
more of these animals into places where mosquitoes live might help to cut down the amount of mosquitoes
in that area. This is a natural solution, but it does not always work very well. Mosquitoes can also be killed
with poisons or sprays. Even though these sprays kill mosquitoes, they may also harm other plants or
animals.

Although mosquitoes may not seem as scary as larger, more powerful animals, they are far more
dangerous to human beings. But things are changing. It is highly likely that one day scientists will find a
way to keep everyone safe from mosquitoes and the diseases they carry.

61- According to the author, some people are more afraid of tigers and sharks than mosquitoes because

tigers and sharks ............ .

1) kill more people than mosquitoes 2) are big and powerful
3) are found all over the world 4) have no natural enemies
62- Based on the information in paragraph 2, we can understand that ............ .

I. male mosquitoes and female mosquitoes have different eating habits
I1. male mosquitoes are harmless to humans
II1. female mosquitoes are responsible for transmitting diseases to humans
1) I only 2) I and II only 3) [T and III only 4) 1, 11, and III
63- As used in paragraph 2, the word “minor” is closest in meaning to ............ .
1) deadly 2) frustrating 3) dangerous 4) unimportant
64- In paragraph 2 the author writes, “This saliva may or may not contain a deadly disease.” The purpose
of this statement is to ............ .
1) oppose a previous argument 2) question an upcoming conclusion
3) support a later statement 4) confirm a hypothesis
65- Based on the information in paragraph 3, it can be understood that if you get sick with malaria or
yellow fever, your chances of survival are ............ .

1) terrible 2) mediocre 3) very good 4) awful
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Passage 3:

Have you ever heard someone use the phrase “once in a blue moon”? People use this expression to
describe something that they do not do very often. For example, someone might say that he tries to avoid
eating sweets because they are unhealthy, but will eat chocolate “once in a blue moon.” Or someone who
does not usually like to go to the beach might say “I visit the shore once in a blue moon.” While many
people use this phrase, not everyone knows the meaning behind it.

The first thing to know is that the moon itself is never actually blue. This is just an expression. The
phrase “blue moon” actually has to do with the shape of the moon, not the color.

As the moon travels around the earth, it appears to change shape. We associate certain names with
certain shapes of the moon. For example, when we can see a small part of the moon, it is called a crescent
moon. A crescent is a shape that looks like the tip of a fingernail. When we cannot see the moon at all, it is
called a new moon. When we can see the entire moon, it is called a full moon. Usually, there is only one full
moon every month. Sometimes, however, there will be two full moons in one month. When this happens, the
second full moon is called a “blue moon.”

Over the next 20 years, there will only be 15 blue moons. As you can see, a blue moon is a very rare
event. This fact has led people to use the expression “once in a blue moon” to describe other very rare

events in their lives.

66- Which of the following would be a good example of someone doing something “once in a blue moon”?
1) Mary likes to go to the mountains every weekend. Mary goes to the mountains once in a blue moon.
2) Tom rarely remembers to take out the trash. Tom takes out the trash once in a blue moon.
3) Cindy hates to wash the dishes. Nevertheless, she does it every day. Cindy washes the dishes once in a blue moon.
4) Ming sometimes forgets to do his homework. Ming forgets to do his homework once in a blue moon.
67- When does a blue moon happen in nature?
1) when there are two full moons in one month
2) when the moon has a blue color
3) when we cannot see the moon at all
4) when we can only see a small part of the moon
68- As described in paragraph 3, what is another example of something that has a crescent shape?
1) your thumb 2) a distant star 3) the letter “C” 4) the letter “H”
69- As used in the final paragraph, which is the best antonym for “rare”?
1) common 2) strange 3) colorful 4) infrequent
70- What does the pronoun “they” in line 3 refer to?

1) someone 2) sweets 3) chocolates 4) people
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